942 Q1 Hw#2                       data   (  942_q1h2_212_mod.sav   &   942_q1h2_212b_app.sav
1. Use  942_q1h2_212_mod.sav  with the criterion GGPA and get the following values from a separate regression for each predictor (do not use exponential notation – convert any exponential notation to “regular decimal format”).
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2. Interpret the r, b & a values from above.  
There’s a lot to remember when interpreting these values – the idea is use all the information available in the values, and express that information in terms of the behaviors and groups they represent.
· Significant or not, each b, β or, a is our best estimate of the population parameter – if nonsignificant,  you can interpret it if you want, but be sure to mention if it is not significantly different from 0

· For this exercise, don’t classify the size of the linear relationship (small, medium, etc).  Though this is a good idea when presenting your results, different research areas use different “standards”.

· When interpreting correlations involving quantitative predictors:  Don’t tell me what that the correlation is “positive” or “negative”.  Rather, use a description like, “More practice is associated with higher performance scores” or “Those who attended more therapy sessions tended to have lower anxiety scores”
· When interpreting correlations involving binary predictors:  Don’t tell me that the correlation is “positive” or “negative”.  Rather, use a description like, “Those in the treatment condition tended to have higher average success ratings than those in the control condition” or “The married participants had a higher average satisfaction than did the single participants.”

· When interpreting b-weights involving quantitative predictors:  Tell me whether criterion scores are expected to increase or decrease, and by how much, for each 1-unit change in the predictor.
· When interpreting a-values involving quantitative predictors:  Tell me what is the expected criterion score for those who have a predictor score of zero.

· When interpreting b-weights involving binary predictors:  Tell me the difference (direction and amount) is the mean criterion score of the group coded 1 (be sure name that group) from the group coded 0 (be sure to name that group too).

· When interpreting a-values involving binary predictors:  Tell me the mean criterion score of the group coded 0 (be sure to name that group).
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3.  Use  942_q1h2_212b_app.sav to obtain the following predicted GGPA values (using only viable predictors).
	Predictor
	Applicant #3
	Applicant #7
	Applicant #11
	Applicant #14
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